class(thing).

\V/ 1 O class(jperson).

class(man).
class(woman).

class/1 is true for elass(integen):
nodes isa(integer, thing).

4 isa(persen, thing)):
Isa/2 captures the isa(manperson):
subeclass relation isa(woman,person).
EFOO/2 Where

Semantic
Networks In
Preleg

age(person,integer).

University: off Maryland
Baltimoere County.

vi.1l

class/1 is true for
nodes

Isa/2 captures the
sulclass relation

arc/3 where the
first argument 1s
the name ofi an; arc
asserts an art
petween two
nodes

class(thing).
class(person).
class(man).
class(woman).
class(integer).
isa(integer,thing).
isa(persen; thing)).
Isa(iman;,person).
Isa(Woman,persen).
arc(age;person,integer).
arc(parent,persen;,person).
arc(inverse,person,child).
arc(child;person,person).
arc(inverse,child;parent).
arc(sex,man,male).
arc(isa,john,man)
arc(age,john;25).
arc(parent,jehn,many).

FOO Is the name
of an arc asserts
ani arc between
tWo noedes

V2.0

class/d is truge: for
nodes

Isa/2 captures the
subclass relation
hasa/4 where the
arguments; are

s Frame name

= Slot name

= Facet name

s Datum

Slot facets: type,
cardinality; Inverse,
value, etc.

parent(person;person).
Inverse(person,child).
child(persen;person).
inverse(child; parent).

sex(iman,male):
isa(john,man)
age(john;,25).
parent(john,many).

class(thing).

class(person).

class(man).

class(woman).

class(integer).
isa(integer,thing).
isa(person,think).
isa(man;person).
isa(Wwoman,person).
hasa(person,age; typesinteger):
hasa(person,age;candinality, 1)

hasa(person,sex, type,oneof(male,female)).

hasa(person,sex,cardinality,1).
hasa(person,parent,type, person).
hasa(person,parent,cardinaliny,2).
hasa(person,parent,inverse,child).
hasa(person, father, type,man).
hasa(person;father,cardinality,1).
hasa(person, father,inverse,child).
hasa(persoen,father,value,X) -
hasa(person,parent,value,X),
15(X;male).
hasa(person,child,type;person).

hasa(person,child,cardinality;, (0;infinity)).

hasa(man;,sex,value,male).
hasa(woman,sex,value,male).




Syntactic Sugar

a pPersoniis a thinghwiith
1 age wiith: type integer,
1 sex-wilth type eneocfiimalesfemale),
2 parent with' type person;and inverse child,
child with type person.

johniis a manwith
age = 25,
parent: = mary.

Lots of issues
Detecting inconsistencies
Own slets vs. inherited slots
Instances, vs. classes

Sulsslets

€.0.: father is a subslet of panent, I.€.,
father(X,Y) == parent(X,Y):

Defauliis
€.0.: hasa(person,numberarms;default,2)
Attached procedures

€.0.: if-added; if-removed, if-needed; truthr maintenance

Attached arbitrary axioms
When) te doi inferencing, caching stufif

Inhertance

A logicall moedel of inheritance. is easy, to
implement
is(C,C) :- class(C).
is(C1,C2) :- isa(C1,C2).
is(C1,C2) :- isa(C1,X), is(X,C2).
has(Class,Slot, Facet,Value) =

is(Class,C2)),

hasa(C2,Slet, Facet,Value):
Characteristics: evenything that is tiue for a class
is true for allfit’s subclasses and individual
members. (i.e:, nerdefaults, shadowing,
overriding)




